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; 100kN/mM%#BZ 5 - -~ -|13mEBZD -~ - -| 100kN/mM%#BZ % - -~ -|3mZEEBZS ~ -
ThList 1.00 | 0.00 ~ 4.74 59.06 | #hst | 000 ~ 4.74) 1.79 9.59 Th st 1.00 | 5.00 ~ 5.00 59.06 | Th4 | .00 ~ 500 1.79 9.69
2 100kN/mM%BZ 5 -~ -|13mEBZD -~ -| 100kN/mM%#BZ % -~ -|3mZEEBZS ~
Th st 1.00 | 0.00 ~ 7.09 90.05 | #hstk | 000 ~ 709 1.75 9.36 Th st 1.00 | 5.00 ~ 890 90.05 | =hs | .00 ~ 890 | 1.75 9.36
3 100kN/mM%{BZ 5 ~ -|13mEBZS ~ -| 100kN/mM%#BZ % ~ -|3mZEEBZS ~
s 1.00 | 0.00 ~ 769 98.64 | F=nLs | 000 ~ 000\ 1.62 8.67 Th st 1.00 | 6.00 ~ 1120 98.64 | FnLSY | 500 ~ 1120 1.62 8.67
4 100kN/mM%E{BZ 5 ~ -|13mEBZS ~ -| 100kN/mM%#BZ % ~ -|3mZEEBZS ~
zhst 1.00 | 000 ~ 668 84.31 | #nst | 000 ~ 668 1.87 9.99 zhLst 1.00 | .00 ~ 830 84.31 | #nLS | .00 ~ 830 1.87 9.99
5 100kN/mM%EBZ % ~ -|13mEBZD ~ -| 100kN/mM%#BZ % ~ -|3mZEEBZS ~
s 1.00 | 000 ~ 771 98.92 | #F=nLs | 000 ~ 771\ 2562 13.48 Th st 1.00 | 6.00 ~ 1225 98.92 | FnLSY | 65,00 ~ 1225| 2.52 13.48
s 100kN/mM%EBZ % ~ -|13mEBZD ~ -| 100kN/mM%#BZ % ~ -|3mZEEBZS ~
zhLst 1.00 | 000 ~ 568 70.94 | #neist | ooo ~ 568\ 2.06 11.03 zhLst 1.00 | .00 ~ 7.66 70.94 | Enst | 500 ~ 7.66 | 2.06 11.03
. 100kN/mM%E{BZ 5 ~ -|13mEBZD ~ -| 100kN/mM%#BZ % ~ -|3mZEEBZS ~
s 1.00 | 0.00 ~ 6.44 81.04 | LS | 000 ~ 644 1.82 9.76 s 1.00 | 5.00 ~ 7.70 81.04 | =hs | 5,00 ~ 7.70| 1.82 9.76
s 100kN/ Mm% A5 ~ -|3m%EEEZ S ~ -| 100kN/mM%#BZ % ~ -|3mERBZ B ~
Thilst 1.00 | 000 ~ 673 85.02 | #Fhst | 000 ~ 6.75| 1.80 9.64 Thilst 1.00 | 6.00 ~ 820 85.02 | #hst | 6,00 ~ 820 | 1.80 9.64
9 100kN/ Mm% A5 ~ -|3m%EEEZ S ~ -| 100kN/mM%#BZ % ~ -|3mERBZ B ~
Thilst 1.00 | 000 ~ 7.38 94.19 | #Fhst | 000 ~ 7.38| 1.76 9.40 Thilst 1.00 | 6.00 ~ 9565 94.19 | Fhst | .00 ~ 9656 | 1.76 9.40
70 100kN/m#z#2%5| 1.00 | 0.00 ~ 031 104.59 |3m%E#BA B ~ -[ 100kN/MZE A5 | 1.00 | 10.70 ~ 11.53| 104.59 |3mE#EZ5 ~
ThLst 1.00 | 0.31 ~ 810 100.00 | =St | 000 ~ 810 2.28 12.21 ThLst 1.00 | 6.00 ~ 10.70 100.00 | =hst | 6.00 ~ 11.53| 2.28 12.21
17 100kN/m%E#8Z2%| 1.00 | 000 ~ 046 10682 |3mEBZ5 ~ -| 100kN/ % A5 | 1.00 | 1053 ~ 11.80| 106.82 |3mE#EZ5 ~
Thilst 1.00 | 046 ~ 825 100.00 | #hLst | 000 ~ 825| 2.19 11.72 Thilst 1.00 | .00 ~ 1053 100.00 | =hLst | 65,00 ~ 11.80| 2.19 11.72
12 100kN/m%E#8z2%| 1.00 | 000 ~ 140 121.23 |3m%EBZ5 ~ -| 100kN/MZE#BZ5 | 1.00 | 10568 ~ 1536 121.23 |3m&E#BZ5 ~
st 1.00 | 1.40 ~ 9.18| 100.00 | #hLst | 000 ~ 9.18| 2.32 12.42 Thilst 1.00 | .00 ~ 1058 100.00 | TS | 5,00 ~ 1536| 2.52 12.42
13 100kN/m%E#8Z2%| 1.00 | 000 ~ 1.97| 130.36 |3m%EBZ5 ~ -| 100kN/ % BZ5 | 1.00 | 1053 ~ 17.89| 130.536 |3mZE#EZS ~
ThLst 1.00 | 1.97 ~ 9.75 100.00 | FnLs | 000 ~ 9.75| 237 12.69 ThLst 1.00 | 6.00 ~ 1053 100.00 | =hdst | 6.00 ~ 17.89| 2.37 12.69
14 100kN/ Mm% Z 5 ~ -|3mEEBEZ S ~ -| 100kN/mM%#BZ % ~ -|3mERBZ B ~
zhs 1.00 | 0.00 ~ 464 57.89 | #=nLst | 000 ~ 464 1.86 9.93 zhst 1.00 | .00 ~ 5.00 57.89 | #Fnst | 500 ~ 500 1.86 9.93
100kN/ Mm% A5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ 3mEEZ D ~
zhst ~ Zzh st ~ zhst ~ Lot ~
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